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学而思教育·学习改变命运 思考成就未来！                 高考网www.gaokao.com

DATE: OCT17    

TOPIC: Unit9---Health Care
AIMS:      1.  Learn about health care
            2.  Practice expressing opinions and making decisions
IP&DP    Improve reading skills and Enlarge vocabulary.
a. Direct Ss to read the 3 passages on the text book;
b. Guide Ss to learn to use the following words and expressions:
Medical insurance, poverty, unemployment, AIDS, housing, income, economic development, essential, desperate, fundamental, statistics, pressure, constant, allowance, re-employment, sacrifice, aggressive, intelligence, sense of responsibility, sympathy, willingness, observation, resident, laid-off, vow, mould, etc.

METHODS: Use talking \thinking\answering questions

PROCEDURES:
 Step 1 Lead in
1.Can you think of the situations where people need help?
Serious illness, jobless, accidents, wars, disasters…
2.While one is in such situations, which organization can help besides the people around him or her?
The WHO together with the government.
Step 2 Listen and answer:
1.Was wanglin cured or not?
2. How much was spent on the poor people by 2003?
3.What is another big challenge for the government?
Step 3 Scanning
Read the passage and try to come up with the general idea of each paragraph. Then ask students to fill in the chart to see if they have got a general understanding of the whole passage.
Main Idea 
Paragraph A A man suffering from a serious disease was unable to pay for treatment.
Paragraph B With a health care project’s help, Wang Lin’s disease was cured.
Paragraph C A new health project is aimed at exploring and developing a new health care model for China.
Paragraph D Many urban Chinese are living on money given by the government.
Paragraph E Millions of Chinese people in urban areas cannot afford proper health care.
Paragraph F Health care project is very important in our country’s efforts to fight poverty.
Paragraph G The Chinese government is taking measures to prevent the spread of AIDS.
Paragraph H People must help each other if society is to develop and prosper.
Paragraph I Our country is working hard to fight poverty and improve health care.


The main idea of the passage: 

The Passage gives a brief introduction to the health care condition in our country, and it emphasizes on the efforts that our government is making to fight poverty and improve health care by giving examples of Wang Lin. 
Step 4 Careful-reading
1.In what way is Wang Lin’s situation similar to that of other low-income families?
They all can only make ends meet on their low income, and if someone in their families becomes seriously ill, the family is forced into poverty, and has to ask for help from the government.
2. Why is medical insurance so important to low-income families?
Because medical insurance can provide easy access to hospitals and clinics for low-income families. 
3. What is the government doing about AIDS in China?
Chinese government has vowed to provide free AIDS tests for the general public as well as free treatment for those who cannot afford the treatment fees. And we learn from news that our government has decided to control the number within 1.5 million before 2010.
4. What can we do to care for the weakest members of our society?
Our country decided to move forward without leaving anyone behind. Now we are taking measures, such as reducing poverty, helping sick people get treated properly and providing medical insurance for the poor. And we all know that the famous programme “Developing the West”, it is an important measure to put an end to poverty. Only by helping each other, can our country develop and prosper.
Step 5 Comprehension
Unemployment—poverty-- bad housing condition/ no healthy diet/ cannot afford to purchase medical insurance/ no good education—AIDS/ accidents-- government programmes
Step 6. Post-reading
A. Choose the best answers:
1.Thanks to______, Wang Lin was able to receive a treatment in time to prevent the disease from ruining his health. 答案：C
A. his son in college B. the insurance for his family
C. the health care project D. the kindness of his family and neighbors
2.According to the text, if Wang Lin had had______, the sickness wouldn’t have caused such a big problem. 答案：C
A. a good job B. a high income C. insurance D. a good doctor to consult
3.What’s the aim of new health care project? 答案：D
A. Helping people get rid of poverty. 
B. Exploring and developing a new health care model for China.
C. Letting sick people treated properly.
D. Providing medical insurance for the poor.
4.According to the United Nations AIDS agency’s report, how many people will be infected by AIDS in China by 2002 unless more is done to prevent the spread of the disease? 答案：B
A.9 million. B.10 million. C.11 million. D.12 million.
5.The text “A Helping Hand” is mainly about______. 答案：C
A. millions of Chinese people in urban areas can’t afford proper health care
B. the Chinese government is taking measures to prevent the spread of AIDS
C. a new health care project is being explored and developed in China
D. people must help each other if society is to develop and prosper
B. Read the passage and fill in the blanks with one to three words.

The poverty and the poor health care of low-income families The government’s efforts to fight poverty and poor health care
Low-income families cannot afford to pay for 1________, that is to say, they cannot afford to 2 _____a doctor or 3______medicine. ① The government encourages health care form and reduces poverty by designing a health care project which provides poor patients with treatment at 7____or less to help them get treated properly.
② The Chinese government is working with other countries and international organizations to explore and develop a new 8_______ for China. 
③ The government encourages people to 9_________ in order that other measures to fight poverty will work. 
④ The government has vowed to stop the spread of AIDS by providing free 10_______ 
Low-income families cannot provide 4___ for their children. 
Many low-income families cannot afford to 5_______. 
Low-income families live on allowance 6____________. 

Keys:1. medical treatment 2. consult 3.purchase/buy 4. a healthy diet 5. purchase medical insurance. 6. given by the government 7. half the cost 8. health care model 9. purchase medical insurance 10. tests and treatment
C. Answering the questions on P77.
Step 7 Homework
Finish all the exercises on Word Study and Grammar on p77-79.

教后感：通过文章的学习，让学生了解我们国家的医疗情况，让学生去体会我们国家为农民医疗所做出的努力，鼓励他们去关注身边的人。

DATE: OCT20  

TOPIC: Integrating Reading Skills ------The Little Mould That Could
AIMS:   train Ss reading ability

       Get the general idea of each paragraph.

IP&DP    1.some phrases   

         2.How to help Ss understand the text better. 

METHODS: Get the general idea of the text ,give some key words, help them recite the text.  Then, give them some exercise as consolidation

PROCEDURES:

Step 1. Scan the passage
A. find the main idea
Paragraph 1 Fleming was excited about his discovery, which he called Penicillin, but other scientists showed no interest.
Paragraph 2 Penicillin played a very important role during the World War II and at present as well.
Paragraph 3 Fleming discovered a mould that can kill bacteria by accident.
Paragraph 4 Health care in the past was often dangerous and risky.
Paragraph 5 Alexander Fleming invented many ways to treat the wounded during the World War I
B. answer after scanning the passage as quickly as possible.
1. What could the little mould do? 
The little mould that could treat/cure/fight infection.
2. who discovered it? When was it discovered?
In 1928, Sir Alexander Fleming discovered it
3.What is its name?
It is called penicillin (In 1928, Sir Alexander Fleming discovered penicillin that could treat/cure/fight infection.)
Step 2 Careful reading
Choose the best answers:
1.Who discovered penicillin? 答案：B
A. Howard Walter Florey. B. Alexander Fleming.
C. Paul Ehrlich. D. Earnst Boris Chain.
2.It was not until_____that the importance of Fleming’s discovery was fully recognized? 答案：B
A. World WarⅠ B. World WarⅡ C.1928 D.1929
3.When did Fleming receive the Nobel Prize with the two other scientists? 答案：D
A. In 1914. B. In 1928. C. In 1929. D. In 1945.
4.From Paragraph 4 of the text“The Little Mould That Could”we can see that Fleming was all the following except______. 答案：D
A. confident B. strong-willed C. hard-working D. kind and warm-hearted
Step 3. Read the passage again and finish the exercises on the page 78 .And retell the life experience of Fleming and how he discovered penicillin.
Alexander Fleming was a young doctor in the early 1900s when a German chemist developed a chemical treatment to cure an incurable disease. Fleming began using it in his clinic. Then in 1914, he had to go to the battlefield to treat wounded soldiers during World WarⅠ, when he invented many ways to treat the wounded. After returning from the war, he went on with the search for the
chemical because he believed it could treat infections. One day, he found a mould was growing in some old glass containers. To his surprise, the bacteria he had been growing had died. He believed that it was the mould, which later he called penicillin that killed the bacteria. Penicillin was a great 
discovery. It played a very important role during World War Ⅱ and as well as at present time. Fleming was awarded Nobel Prize for his great discovery in 1945.
Alexander Fleming discovered Penicillin
 Reading on P213
Florence Nightingale
She is remembered as a pioneer of nursing and a reformer of hospital sanitation methods. For most of her ninety years, Nightingale pushed for the reform of the British military health-care system.
Main idea
Para.1 (Para1): Fear had gripped the nation when SARS broke out.
Parts2(Para2-7): Thanks to the quick and forceful action the country took and the sacrifices the health care staff made, SARS ended in he summer of 2003.
Part 3 (Para 8): We will never forget the “Angels in White”.
STEP4 HOMEWORK
复述文章内容，运用KEY WORDS。

教后感: 正如文章所描述的那样，往往在不经意间我们发现了对人类非常有益的重要东西，因此，我们将鼓励学生投入到科学研究中.

DATE: SEPT18    

TOPIC: Unit9---language points
AIMS:      1.  Learn about some useful language points

            2.  Practice expressing ideas according to certain backgrounds.
IP&DP    1. Guide Ss to learn to use the following words and expressions:
           2. how to help them memorizing the new words and phrases

METHODS: use the certain background to make dialogue and sentences.

PROCEDURES:
Dictation

Step I  Phrases:
1.take measures to do sth.        2.a laid-off worker
3.have an income of             4.to make matters worse
5.take a bank loan               6.put extra pressure on the family
7.keep a healthy diet             8.live in poverty 
9.make ends meet              10.look forward to 
11.ready-made clothes          12.cure many diseases
13.a story of hard work           14.search for
15.clean up                     16.in a good mood
17.set a goal                    18.be effective in
STEP II
· be diagnosed with: 

    be identified with a disease

    e.g. Mary is diagnosed with AIDS when she was only seven years old.

      This sentence means that when Mary was seven , the doctor told her that she had the disease AIDS.
2. lay sb. off: dismiss sb.

If sb. is laid off, it means she or he loses her or his job. And the   adjective “laid-off” comes from this phrase.    
    Translate:

    由于效益不佳，工厂不得不解雇五名 

    工人，王林就是下岗职工中的一名。
The factory has to lay off at least 50 workers because of the low benefits, thus Wang Lin becomes one of the laid-off workers.

3. to make matters worse: 

    what’s worse

    e.g. I lost my way to the hotel, to make matters worse, I forget the name of the hotel where I live. 

4. thanks to: because of

    e.g. Thanks to the kind help of Mr. Wang, I could arrive at the station on time.”  = If Mr. Wang hadn’t helped me, I could not have arrived at the station on time. 

5. fundamental: elementary, basic

    e.g. the fundamental laws of the universe= the basic laws of the universe. 

6. to consult:  to seek advice or information of something

 e.g.   If you are ill, you should go to hospital to consult a doctor, it means you should ask for advice on how to cure the disease. 

         If you don’t understand a word, you can consult a dictionary, it means you can look it up in the dictionary.

7. They cannot afford to consult a doctor or purchase medicines from a chemist when they get sick, nor can they make sure that their children keep a healthy diet. 

     这里表示否定意义的副词nor 置于句首, 后面的句子应采用部分倒装形式意为“也不……”

e.g. If you don’t wait for him, nor shall I. 

     具有相同用法的否定意义的副词还有never, nor，neither，no sooner, little, hardly, seldom, in no way, nowhere, not only等。
e.g.  1) Not a single mistake did he make in his exam.

2) Visit our stores. Nowhere else will you find such magnificent bargains. 

3) Hardly had he finished his work when the telephone rang.

4) Not only did he complain about the food, he also refused to pay for it. 

2. It is sometimes said that a society can be judged by the way it cares for its weakest members.    

   当way 作先行词，并在定语从句中做状语时, 关系词用that或in which或
省略。
    如： I don’t like the way that / in which he treats me.

Comprehension

Sample passage 

    Nowadays, a lot of people are still suffering from unemployment. It can be a direct cause of poverty. As we know, poverty is a social phenomenon that can cause a series of social problems. The unemployed usuallyhave a low income even no income, so they have no money to improve their housing condition, to have a healthy diet, to buy medical insurance, and to take up good education. We all know many people are infected with AIDS because of the lack of education. So when the poor get serious disease like AIDS, or when accidents happen to them, they have nothing to do but wait for  death. So with our country’s economic developing, government programmes should be made to improve the health care condition of the poor.

Homework 

1. Retell the text using about 100 words.

2. Finish Exercises 1,2, and 3 on Page 77 in Word Study, and write the English explanation of the following words on a piece of paper. The words are “statistics, income, constant, fundamental, clinic, 

pressure, consult, abuse, chemist, allowance, cover, re-employment”.
 教后感：知识点的学习重在设置相关的情景，让学生在情景中去体会，应用。例外，鼓励学生去总结、归纳。整理自己的笔记。

DATE：OCT19

TOPIC：Language Study

AIMS：1. Let Ss understand grammar—SUBJUCTIVE MOOD 

       2. Master the basic rules of SUBJUCTIVE MOOD

IP&DP  how to use SUBJUCTIVE MOOD in certain background.

STEPI 

Ⅰ                                       Ⅱ
1. statistics                        A. hospital

2. income                             B. data

3. hopeless                         C. wages

4. fundamental                                D. desperate

5. clinic                                 E. burden

6. pressure                            F. essential
STEPII  GRAMMAR
 注：
      If the conditional clause includes auxiliary verb (had, should, were)，we can omit the word “if”, and then put the auxiliary verb before the subject. (inversion)  

虚拟语气在条件句中的用法： 

1.表示与现在事实相反的情况。现将主句和从句的谓语动词主要形式列表如下： 

	从句谓语动词形式 
	主句谓语动词形式 

	行为动词用过去时，be 一律用were 
	should/ would/could/might +动词原形 


2.表示与过去事实相反的虚拟条件句。现将主句和从句的谓语动词的主要形式列表如下： 
	从句谓语动词形式 
	主句谓语动词形式 

	had +过去分词 
	should / would/ could/ might +have + 过去分词 


3.表示与将来事实相反的虚拟条件句。现将谓语动词的主要形式列表如下：

	从句谓语动词的形式 
	主句谓语动词的形式 

	动词过去式 

should +动词原形 

were to do 
	should/ would/ could/ might+动词原形 


e.g. 1) If I were at school again, I would work harder. 

           — Were I at school again, Iwould work harder.

       2) If you had followed the doctor’s advice, you would be quite all right    

       now.
       — You would be quite all right now had you followed the doctor’s advice. 
 

   3) If it should rain tomorrow, I would not go there.

         — Should it rain tomorrow, I would not go there. 

e.g. 1) It is important that we (should) learn English well.

       2) It is necessary that we (should) set out right away.

       3) It is strange that he (should) have failed in the exam.

e.g. 1) I wish I were a college student —In fact I am not a college student.

       2) We wish we had taken his advice. 

           — In fact we didn’t take his advice.

3) I wish I could fly to the moon. 

     — In fact I will be unable to fly to the moon.

4) I would rather you paid me now. 

    you painted the wall green next time.

    you hadn’t done that yesterday. 


    3. In the object clauses of the verbs “demand, order, require, request, propose, suggest, insist ...”:

   e.g. 1) He demanded that we (should) tell him everything about it.  

          2) The chairman proposed that we (should) discuss the question. 

 4. In the adverbial clauses led by “as if / though”:

e.g. 1) He looks as if he were an artist.—  In fact he isn’t an artist.

       2) It looks as if it might rain— The chance of rain is small.

  Compare：
       It looks as if it is going to rain.

        — It is likely to rain.

3) He talked as if he had been to London. 

     —In fact he didn’t go to London.
    5. In the sentence type “It is (about, high) time that ...”:

    e.g. It is time we went to bed.

    6. In simple sentences expressing one’s wish:

     e.g.  May you be happy!

Consolidation

A. When Subjunctive Mood is used in adverbial clause of condition, just remember the form.

B. Subjunctive Mood with the verb in its base form (do). These situations include:     

   a. In the subject clauses of the sentence type “It is natural (necessary, important, imperative, strange ...) that ...”

   b. In the object clauses of the verbs  

   “demand, require, request, order, propose, insist,  suggest, ...”

   c. In the appositive clauses of the nouns “demand, suggestion, order, proposal, recommendation, advice, resolution ...”

   e.g. Steven should obey the doctors’ advice that he (should) have a small operation.

   d. In simple sentences expressing one’s wish. 

   e. In adverbial clauses led by conjunctions “in case, lest, for fear that”

   e.g. The games will be postponed lest it should rain.

C. Subjunctive Mood with the verb in its past or past perfect form. These situations include:

   a. In the object clauses of the verb “wish”

   b. In the adverbial clauses led by “as if / though”

  c. In the sentence type “It is (about, high) time that ...”

  d. In the sentence type “If only ...” 

  e.g. If only she knew / had known where to find you. 

  Homework

1. Review the grammar. 

2. Finish the exercises in GRAMMAR of the WORKBOOK.

 教后感：此节课给学生复习了本单元所涉及的知识点，并对虚拟语气有了初步了解，带学生初略的了解虚拟语气，虽然高考说明中提到的不多，但涉及范围还是比较广泛的。

Date: OCT19
Topic虚拟语气 [The Subjunctive Mood]
Aims: Let Ss learn something about The Subjunctive Mood.

Help Ss master the grammar

IP&DP:.如何通过练习帮助学生掌握相关内容。

1一些常见的虚拟语气的句型或结构。
2. 虚拟语气的特殊形式，即用来表示要求、建议、命令、提议、意愿等的主语从句、宾语从句、表语从句和同位语从句中的虚拟形式。
3. 主从句表示不同的时间概念、事实或假设情况，从而交错成为复合虚拟语气。
4. 含蓄条件句中的虚拟语气的表示愿望的虚拟形式。
Procedures

ST强化训练：虚拟语气
1．Were it not for the snowy weather, we　___________　 all right.
A. would be　　 B. would have been　　 C. were　　 D. may be　　
A．条件句表示与现在事实相反的虚拟。

2. _________more careful, his ship would not have sunk.
A. If the captain were　　　 B. Had the captain been
C. Should the captain be　　 D. If the captain would have been
B．条件句表示与过去事实的虚拟。

3. If he_______　me tomorrow, I would let him know.
A. should call　　 B. should not have been able
C. were not able　　 D. are not able
A．条件句表示与未来事实的虚拟。

4. If you asked your father you __________ permission.
A. may get　　 B. might get　　 C. should have called　　 D. maybe get
B．条件句表示与未来事实的相反。

5.　　____________　　 today, he would get there by Friday.
A. Would he leave　　 B. Was he leaving　　 C. Were he to leave　　 D. If he leaves
C．条件句表示与现在事实的虚拟。

6. ______I you, I would go with him to the party.
A. Was　　 B. Had been　　 C. Will be　　 D. Were
D．条件句表示与现在事实的虚拟。

7.The millions of calculations involved, had they been done by hand, ______all practical value by the time they were finished.
A. could lose　　　 B. would have lost　　　 C. might lose　　 D. ought to have lost
B．这个句子中含有一个省略if，把助动词提前到主语they之前的虚拟条件句，该条件句表示对过去情况的假设，而主句中by the time they were finished 表明主句也应该是对过去发生的情况的假设，因而应该选（B）would have lost为正确答案。

8. Had Paul received six more votes in the last election, he_________　 our chairman now.
A. must have been　　 B. would have been　　 C. were　　　 D. would be
（D）这道题目是一个混合虚拟语气的句子。条件句省略了if，把助词had提前到主语前面，表示对过去情况的假设，而主句中now表明了对现在情况的假设，所以应选would(should, could, might)+动词原形这种表达形式。四个选项中只有（D）是正确表达形式，故为正确答案。
9.ook at the terrible situation I am in! If only I　　　　 your advice
A. follow　　 B. would follow　　 C. had followed　　 D. have followed
（C）题目中的第一句话表示的是现在真实的情况，而第二句话中所要表达的是应该做但事实上没有做的事，这种情况导致第一句话中真实情况的发生，故If only条件句假设的是过去一种情况，因此应该用had +过去分词，所以正确答案是（C）。

10.If the horse won today, it　　　　 thirty races in five years.
A. would have won　　 B. won　　 C. must have won　　 D. did have won
A．从句对过去的虚拟。
11 There is a real possibility that these animals could be frightened, _______a sudden loud　 noise.
A. being there　　 B. should there be　　　 C. there was　　 D. there having been　
B．从句表示虚拟，而主句是事实。

12.  I would have gone to visit him in the hospital had it been at all possible, but I ______　　　　　
fully occupied the whole of last week.
A. were　　 B. had been　　 C. have been　　 D. was
（D）本道题目的前半句话是对过去情况的一种假设，但事实上并没有发生，而事实上没有发生的真实原因是句子的后半部分由but引导的转折句所表述的真实。因而but所引导的句子中应该用表示志过去事实相符合的表陈述的时态，即一般过去时。

13. I apologize if I　　　　 you, but I assure you it was unintentional.
A. offend　　 B. had offended　　 C. should have offended　　 D. might have offended
（B）此题要求在if从句中选择适当的动词形式，以主句中的动词apologize(抱歉)来看，if从句中表达的内容应该是过去做的事，因此可以排除（A），因为（A）是现在时。（C）中should+have+过去分词结构表示本来应该做却没有做的事，在此不合题意。（D）选项中的might+have+过去分词表示对过去发生的事情很不肯定的猜测，它表达的内容还不能成为事实，所以藉此道歉真是不知从何说起，因此此处也不合题意。（B）had offended表示当时已经发生了的动作。这是复杂条件句：apologize 是现在，而条件句是表示对过去假设的条件句。

14. If you hadn’t taken such a long time to get dressed, we’d_________ there by now.
A. be　　 B. circles　　 C. is circling　　 D. be circling
（A）该句也是一个复杂条件句（或称作混合虚拟条件句）。条件句表示对过去情况的假设，而主句表示对现在情况的假设，但事实上却与此相反，所以正确答案应该是（A）。

15. The sun rises in the east and sets in the west, so it seems as if the sun ________round the earth.
A. were circling　　 B. circles　　 C. is circling　　 D. be circling
A）as if引导的从句要求用虚拟语气，表示同时或将来的情况，动词要用过去式（be动词用were）或would(could等)+动词原形，本句话中指的是当时的情况，所以要用过去式，故（A）是正确答案。

16. I wish that I ______ with you last night.              D
A. went　　 B. have gone　　 C. could go　　 D. could have gone　　

17. I wish I_______ with her.    D
A. would be　　 B. am　　 C. was　　 D. were

18. I wish that I________　the concert last night.    C
A. could　　 B. have attended　　 C. could have attended　　 D. attended

19. The picture exhibition bored me to death. I wish I　_______　to it.  A
A. had not gone　　 B. have not gone　　 C. did not go　　 D. can not have gone

20. “I wish you　__________　me to put these things away,” he said.    D
A. will help　　 B. help　　 C. are helping　　 D. would help

21. If the Watergate Incident　__________ Nixon would not have resigned from the presidency.
A. did not occur　　 B. had not occurred　　 C. was not occurring　　 D. be occurring
（B）had not occurred表示对过去的虚拟，条件句中要用过去完成式，主句中要用should(would, could, might)+动词原形的过去分词。
22. I hadn’t expected James to apologize but I had hoped　　　　 .
A. him calling me　 B. that he would call me　　 C. him to call me　　 D. that he call me
（B）had hoped是常见的要求其后的宾语从句用虚拟语气的句型,虚拟语气would+动词原形。

23. George would certainly have attended the proceedings　　　　　 .
A. if he didn’t get a flat tire　　　　 B. if the flat tire hadn’t happened
C. had he not had a flat tire　　　　 D. had the tire not flattened itself
（C）表示对过去情况的假设，主句动词形式为would(should, could, might)+have+过去分词，条件句为过去完成式，if可以省略，但要把had提前主语前面。（B），（D）的表达不符合英语表达习惯，所以（C）是正确答案。

24. The teacher suggested that her students　_________　experiences with ESP.
A. write a composition on their　　　　　　 B. to write composition about the
C. wrote some compositions of his or her　　 D. had written any compositions for his
（A）suggest后面的从句要用虚拟语气形式，其形式为should（可以省略）+动词原形。

25. He speaks Chinese as fluently as if he ______a Chinese.
A. were　　 B. had been　　 C. is　　 D. has been
A．表示与现在相反的虚拟。
26. As usual, he put on a show as though his trip________a great success.
A. had been　　 B. has been　　　 C. were　　 D. was
A．as though引导的与过去相反的虚拟。

27. Looking round the town, he felt as though he　　　　 away for ages.
A. has been　　 B. was　　 C. is　　 D. had been
D．felt是过去式，所以该句是由as though引导的与过去相反的虚拟。

28. John is so strongly built that he looks as if he　　　　 as elephant.
A. lifts　　 B. is lifting　　 C. lifted　　 D. could lift
D．as if引导的与现在事实相反的虚拟。

29. Most insurance agents would rather you_________anything about collecting claims until　
they investigate the situation.
A. do　　 B. don’t　　 C. didn’t　　 D. didn’t do
（D）would rather后接从句要求用虚拟语气，形式为过去式，表示对现在或将来的假设，或为过去完成式表示对过去的情况的假设。 

30. It is important that the TOEFL office　________ your registration.     （B）
A. will confirm　　 B. confirm　　　 C. confirms　　　 D. must confirm

31. Without electronic computers, much of today’s advanced technology　　　　 .
A. will not have been achieved　　 B. have not been achieved
C. would not have been achieved　　 D. had not been achieved
（C）这是一人含蓄虚拟条件句，通过介词短语without,表示潜在的一种假设，而主句中的情况也早已经发生，所以是对过去情况的一种假设，因此用would not have been achieved这一形式。
32. He told her to return the book in time so that others　_________a chance to read it .
A. may have　　 B. will have　　　 C. would have　　 D. might have
（D）连so that引导的从句中要求用虚拟语气，表示一种假设，形式为might+动词原形

HOMEWORK

阅读缩定高考的相关内容，复习上课讲的笔记。
教后感：通过本节课的学习，再现了虚拟语气的各种形式，展现了学习过程中必须掌握的几个重点考点，学生基本上掌握了相关的变形形式，需要做的是巩固、记住规则。
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